
■　　　　　　にあてはまる数を答えましょう。

① 9 × ＝ 63

② × 7 ＝ 7

③ × 9 ＝ 36

④ 8 × ＝ 8

⑤ × 6 ＝ 48

⑥ 4 × ＝ 24

⑦ 2 × ＝ 4

⑧ × 3 ＝ 12

⑨ 3 × ＝ 15

⑩ × 3 ＝ 6

⑪ × 1 ＝ 3

⑫ 9 × ＝ 81

⑬ 8 × ＝ 40

⑭ × 5 ＝ 30

⑮ 5 × ＝ 45

⑯ × 4 ＝ 16

⑰ × 2 ＝ 10

⑱ 3 × ＝ 18

⑲ 9 × ＝ 9

⑳ × 6 ＝ 42

㉑ × 2 ＝ 18

㉒ 2 × ＝ 12

㉓ × 3 ＝ 9

㉔ 8 × ＝ 64

㉕ × 9 ＝ 72

㉖ 5 × ＝ 35

㉗ 2 × ＝ 8

㉘ × 7 ＝ 49

㉙ 3 × ＝ 21

㉚ × 8 ＝ 16
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■　　　　　　にあてはまる数を答えましょう。

① 9 × ＝ 637

② × 7 ＝ 71

③ × 9 ＝ 364

④ 8 × ＝ 81

⑤ × 6 ＝ 488

⑥ 4 × ＝ 246

⑦ 2 × ＝ 42

⑧ × 3 ＝ 124

⑨ 3 × ＝ 155

⑩ × 3 ＝ 62

⑪ × 1 ＝ 33

⑫ 9 × ＝ 819

⑬ 8 × ＝ 405

⑭ × 5 ＝ 306

⑮ 5 × ＝ 459

⑯ × 4 ＝ 164

⑰ × 2 ＝ 105

⑱ 3 × ＝ 186

⑲ 9 × ＝ 91

⑳ × 6 ＝ 427

㉑ × 2 ＝ 189

㉒ 2 × ＝ 126

㉓ × 3 ＝ 93

㉔ 8 × ＝ 648

㉕ × 9 ＝ 728

㉖ 5 × ＝ 357

㉗ 2 × ＝ 84

㉘ × 7 ＝ 497

㉙ 3 × ＝ 217

㉚ × 8 ＝ 162
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